PUR-1569 Uniforms for Washington County Sheriff's Officers Awarded to Galls, LLC.				Atlantic Tactical, Inc. New Cumberland, PA		GALLS, LLC Lexington, KY	
Item No.	Item Description	Unit of Measure	Qty	Unit Price	Total Price	Unit Price	Total Price
1	Uniform Dress Blouses	Ea.	20	\$787.71	\$15,754.20	\$575.00	\$11,500.00
2	Class "A-B" Trousers - Patrol, Judicial & Detention - F1 47780 86	Ea.	75	\$109.20	\$8,190.00	\$81.70	\$6,127.50
3	Women's Trousers, Option 1 - F1 47780W 86	Ea.	75	\$109.20	\$8,190.00	\$81.70	\$6,127.50
4	Men's Trousers Option 2 - F1 47280	Ea.	100	\$109.20	\$10,920.00	\$73.85	\$7,385.00
5	Women's Trouser, Option 2 - F1 47280W	Ea.	25	\$109.20	\$2,730.00	\$73.85	\$1,846.25
	Class "A-B" Shirt, Long Sleeve - Mens - Patrol, Judicial & Detention - 05W84	Ea.	25	\$102.31	\$2,557.75	\$79.14	\$1,978.50
7	Women's Long Sleeve Shirt - 105W84	Ea.	25	\$102.31	\$2,557.75	\$79.14	\$1,978.50
8	Men's Short Sleeve Shirt - 55R84	Ea.	25	\$92.46	\$2,311.50	\$71.81	\$1,795.25

Item No.	Item Description	Unit of Measure	Qty	Unit Price	Total Price	Unit Price	Total Price
9	Women's Short Sleeve Shirt - 155R84	Ea.	25	\$92.46	\$2,311.50	\$71.81	\$1,795.25
10	Class "C" Men's Trouser - Detention - Option 1 - FX77400	Ea.	100	\$55.73	\$5,573.00	\$48.72	\$4,872.00
11	Women's Trouser, Option 1 - FX77400W	Ea.	100	\$55.73	\$5,573.00	\$48.72	\$4,872.00
12	Men's Trousers Option 2 - FX77300	Ea.	100	\$55.73	\$5,573.00	\$48.72	\$4,872.00
13	Women's Trousers Opton 2 - FX77300W	Ea.	25	\$55.73	\$1,393.25	\$48.72	\$1,218.00
14	Class "C" Detention Long Sleeve Shirts Mens - F1 FX7020	Ea.	25	\$70.14	\$1,753.50	\$59.25	\$1,481.25
15	Women's Long Sleeve Shirt - F1 FX7020W	Ea.	25	\$70.14	\$1,753.50	\$59.25	\$1,481.25
16	Men's Short Sleeve Shirt - F1 FX7000	Ea.	25	\$67.45	\$1,686.25	\$57.05	\$1,426.25
17	Women's Short Sleeve Shirt - F1 FX7000W	Ea.	25	\$67.45	\$1,686.25	\$57.05	\$1,426.25

Item No.	Item Description	Unit of Measure	Qty	Unit Price	Total Price	Unit Price	Total Price
18	Men's and Women's Class "C" Patrol / Judicial / K-9 Long Sleeve Shirt - F1 VTX8120	Ea.	25	\$70.68	\$1,767.00	\$62.07	\$1,551.75
19	Men's and Women's Short Sleeve Shirt - F1 VTX8100	Ea.	25	\$66.28	\$1,657.00	\$58.27	\$1,456.75
20	Men's and Women's Phantom OPS Pants - VTX8600	Ea.	25	\$65.59	\$1,639.75	\$56.35	\$1,408.75
21	Men's and Women's Fusion Light Weight Pants - VTX1200	Ea.	25	\$72.73	\$1,818.25	\$62.48	\$1,562.00
22	SRT Recon Combat Shirt - VTX8528	Ea.	25	\$100.26	\$2,506.50	\$79.91	\$1,997.75
23	Recon Combat Pants - VTX1901	Ea.	25	\$103.65	\$2,591.25	\$89.05	\$2,226.25
24	Phantom Ops Pants - VTX8600	Ea.	25	\$65.59	\$1,639.75	\$56.35	\$1,408.75
25	Fusion Light Weight Pants - VTX1200	Ea.	25	\$72.73	\$1,818.25	\$62.48	\$1,562.00
26	Outerwear - Jacket - Patrol / Judicial / Detention SRT - VTX8800	Ea.	25	\$209.68	\$5,242.00	\$186.17	\$4,654.25

Item No.	Item Description	Unit of Measure	Qty	Unit Price	Total Price	Unit Price	Total Price
27	Vertx Integrity Shell Pants - VTX8815	Ea.	25	\$185.42	\$4,635.50	\$144.81	\$3,620.25
28	Duty Guard HT Pullover - Men's - F1 57100	Ea.	25	\$147.53	\$3,688.25	\$104.85	\$2,621.25
29	Duty Guard HT Pullover - Women's - F1 57100W	Ea.	25	\$147.53	\$3,688.25	\$104.85	\$2,621.25
30A	Duty Guard HT + Pullover Men's - F1 57300	Ea.	25	\$166.85	\$4,171.25	\$119.64	\$2,991.00
30B	Duty Guard HT + Pullover Women's - F1 57300W	Ea.	25	\$166.85	\$4,171.25	\$119.64	\$2,991.00
31	Duty Guard ST Outer Shell Jacket - F1 56100	Ea.	25	\$255.79	\$6,394.75	\$185.87	\$4,646.75
32	Softshell Jacket - 54100A	Ea.	25	\$141.90	\$3,547.50	\$101.06	\$2,526.50
33	Men's Cold Black Short Sleeve Polo - Patrol / Judicial / Detention / SRT - VTX4000P	Ea.	25	\$56.76	\$1,419.00	\$47.68	\$1,192.00
34	Mock Turtleneck - 52600	Ea.	25	\$51.96	\$1,299.00	\$24.99	\$624.75

Item No.	Item Description	Unit of Measure	Qty	Unit Price	Total Price	Unit Price	Total Price
35	Mock Dickie - 52100	Ea.	25	No Bid	No Bid	\$8.07	\$201.75
36	Justice V-Neck Sweater - 790	Ea.	25	\$125.50	\$3,137.50	\$93.21	\$2,330.25
37	Hybrid Long Sleeve Shirt - Men's - X1 305VS8426	Ea.	25	\$81.07	\$24,321.00 *	\$59.06	\$1,476.50
38	Hybrid Long Sleeve Shirt - Women's - X1 205VS8426	Ea.	25	\$81.07	\$24,321.00 *	\$59.06	\$1,476.50
39	Hybrid Short Sleeve Shirt - Men's - X1 655VS8426	Ea.	25	\$71.23	\$21,369.00 *	\$49.66	\$1,241.50
40	Hybrid Short Sleeve Shirt - Women's - X1 255VS8426	Ea.	25	\$71.23	\$21,369.00 *	\$49.66	\$1,241.50
41	Neckties	Ea.	25	\$2.73	\$68.25	\$7.00	\$175.00
42	Straw Hats	Ea.	25	\$85.07	\$2,126.75	\$66.44	\$1,661.00
43	Felt Hats	Ea.	25	\$160.31	\$4,007.75	\$137.72	\$3,443.00

Item No.	Item Description	Unit of Measure	Qty	Unit Price	Total Price	Unit Price	Total Price
44	3 Piece Leather Strap - Black with Brass Buckles - ST-3P-BRSBUC-BK	Ea.	25	\$9.14	\$228.50	\$7.85	\$196.25
45	3 piece Leather Strap - Black with Silver Buckles - ST-3P-BK	Ea.	25	\$9.14	\$228.50	\$7.85	\$196.25
TOTAL SUM BID (GRAND TOTAL OF ITEMS 1 THROUGH 46)				\$2	35,386.20 *	\$117,485.25 *	

\*Corrected Calculations based on unit pricing

### **Remarks/Exceptions:**

Atlantic Tactical, Inc. - Item No. 34 replace with 57010. Line Item No.s 37-40 require a minimum of 300 pieces per style to order custom shirts.

GALLS, LLC - Catalog discount of 20% for uniforms and 15% for non-uniform items.